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N = 0 &8 AFH Y & A AN
20219 = 2 3 UBts|H E2nSD
AN 22
o gHy 22y s
celr 2 2EES (el &e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
=4 ImE=an" 2,929,787 3,029,263 ~99,476
=2 17,200 17,200 0
Al 153,650 153,650 0
2 2,758,937 2,858,413 A99,476
Ness szt 245t 371,641 428,561 256,920
I g2E8=s 371,641 428,561 A56,920
2 2212 2l 165,214 185,134 A19,920
405 KHaHE S| 125,922 145,842 A19,920
01 IHAtY 2 E F SH 125,922 145,842 A19,920
OCINYHESANAIE HX 119,080 139,000 A 19,920
o298 CIAZY O 2 A 83,010,0002 83,010 94,500 A11,490
oc&2H 29 MH HW  ZH 14,110,000 14,110 15,000 A 890
oMt =24 S/W AX 20,460,000 20,460 28,000 AT7,540
2y 88 90, 147 127,147 A37,000
201 Y| 72,947 109,947 A37,000
01 AL 22| H 72,947 109,947 A37,000
ORFEBZD 60,800 97,800 A37,000
ocMENZSEAN M2 EZ 348 o0& 0 2,000 A 2,000
oRF F2 MA, X S 2=
A= 20,000,000 20,000 40,000 A 20,000
oKX 2LIH &8 8 282
2= 15,000,000 15,000 30,000 A 15,000
s HAE K 930,521 948,871 A 18,350
Al 120,750 120,750 0
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Ooned x4 23X 300,000 *165 49,500 51,600 22,100
HMSIESH M S 317,160 322,160 25,000
=2 17,200 17,200 0
Al 32,900 32,900 0
2 267,060 272,060 25,000
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M- M .2 (3H) - NEAMY - BES Ol A o4 IR Hws2
QWA ATEYN P 18,981 19,860 A 879
oAl TR (AI2PCR)
AE 16,391,000 16,391 16,800 2409
oAl HZOYU(AEAHE)
23 1,730,000 1,730 2,200 A470
405 KHAHE S HI 165,687 167,420 A1,733
01 THAtY 2 Z 5 SH 165,687 167,420 A1,733
ONMOINEES DLIEHY AlAE 2=
AE 68,267,000 68,267 70,000 1,733




